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# =Ry int |
B | [ Z8NESE float 3.14
21| str ‘python’
X~ list [1,2,3]
%ﬁ Il 9L tuple (1,2,3)
hr e dict  {Month":‘5',"day":'20'}
J7A) file csvIJ 71
In [15]: a = 10
h = '5° " .
c = [0,1,2] | ype() C
typela), typelb), typelc) | BZ /NSNS

Out [15]: (int, str, list]
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for 28 in UXBMOXFSNIRE:
"RITS BE"
In [1]: a = [2,8,4]
for i in a: [ ~
print | X I\OD\BOﬁg@E%Q%HRDHjL/Hjﬁ
S U hahS1EBDERSEROE UL
4 UZ ha52EEDERAZRDHULES
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In [2]:  a = range(l,B) < X N1, 2, 3, 4, 5]1724550%
total =1 “ VIEREESTE
for i in a:
total += | < total = total +i &R U

print total DRI E (CtotalDIENEF
(total=0+1=1

15 total=1+2=3
total=3+3=6....)

BRI CSsumBEEZFEX (X—BTEIN LD

In [3]: sumia)
Out [3]: 15
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else © - EDFIFICEHTEESRNEE
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In [9]: a = 555
if ak3==0:
print 'a=3n’
olif afzl: % : S
o rint e a FEDFTERENZN ?

print 'a=3n+?’

a=an
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Sz m/ic UCODEIET o &#ED

while Z&F:
/u-—'—-/—a—équr;w"l

(Bl)a<100DfE. E(CIE>T<

In [1]: a=1 — JHAEERTE
whi le a<100:
a = ak/
print a
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iPython: m T{E1E ?
Python: Ctrl+C Cill{E1E

In [ ]: a=1
whi le a>0:
a = g¥/
print a
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whileDRIDEET5. F(C. FHFCKD>THEED
R UABDEIHEND E SR ECBR).

while True: n 2= jaz ]
“ while [rue:
FF(ifRE) - if D<a<=50:
o a = ak/
P N elif 50<a<100:
F1TS DANE a += 10
else:
break
print a

break TJL—Th' 53klTHES
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try:
“EITTBHE"
excepr:
“HISHCT U CEITI DT

(BB 1027 X baDBEZETE > IEEZ, ZZDY X holZEICHEINT D
In [24]: a = [1,5,0,2]

[ﬂ [EE]: a - [1!5:D:E] . h: []
h = [] < ZZDY X MERK for i in a:
fl]r i in a: | |\b(L__ 10/ i try:
b append (107 %éiszLJ%;b\< h.oappend (1050
print b except :

b.append | Terror’)
____________________ IIIII.'} print b
ferollivisionErrar (10, 2. ‘error’, &

BRICONBDBIEHIS— STEARIOERZ error X
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return R D&
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In [41]: def alx,y,z):
h = xtviz s
C = wky¥z ESESN
return b,c
al(?,3,4) <« 5|IENAEZIETE

Out [41]: (9, 24) < RDIEICHEELUTb, chhiRD TS
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In [9]:

Out [9]:

In [12]:
Qut [12]:

In [13]:
Out [13]:

csv (pandasZz{E

UT=5 — S RH)

inport pandas as pd
castle = pd.read_csv(kanko_castle.csv’)

cast le

year| open of park |all(adult) | all(child) | general(adult) | general(child) | party(adult) | party(child) | discount{adult) | discount(child)
0[H23 | 366 28199 1645 25191 745 2626 Bag 182 1
1|{H24 | 364 285944 1224 26094 746 2732 478 118 0
2|H25 | 364 28727 1024 27281 560 1347 4654 a9 0
3|H26 | 364 44052 2157 30857 786 3183 T35 10012 636
4|H27 [ 365 6840 2855 36950 958 384 884 160459 1003

\ — A E /—‘l \ls

cast|e.chape < IRTCEMERR (172X, 51%)

(5, 10)

cast le.describe|] <

BV DT EOMR (FE, TEUVRE)

. W

open of park|all(adult)  |all(child) |general(adult) |general(child) | party(adult) | party(child) | discount{adult) |discount(child)
count|5.000000  |5.000000 5.000000  |5.000000 5.000000 5.000000 |5.000000 |5.000000 5.000000
mean |364.600000 |37352.400000 |1781.000000 |29274.600000 |761.000000 |2785.800000 |692.000000 |5292.000000  |328.000000
std [0.894427  |12782.161801|741.054316 |4800.578121 |145.220522 |914.586081 |211.743949 |7379.720083  |467.061559
min |364.000000 |28199.000000 |1024.000000|25191.000000 |560.000000 | 1347.000000|464.000000 |99.000000 0.000000

25% [364.000000 |28727.000000 |1224.000000 | 26094.000000 |745.000000 |2732.000000 |478.000000 |118.000000  |0.000000
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In [8]: a = [1,5,0,7]
h = []
for i in a:
if | 1=0:8 I= i F2 L5
h.append (1040 )
else:
h.appendl errar’)
print b

(1o, 2, “error’, &)
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In [49]: a = [[1,2,3],[4,5,6]]
for i in a:
for j in i:
print ]
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In [10]: & = [2,8.4]
k =0
while k<len(a): #enSFdf o8& D5 X 5F
print alk]
I += 1
?
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In [11]: a=1[1,7,3,6.5]
max = all] F3TENE o RiO EEICSTE

for i in a:
if max >= i1 FEAEIVEY A EFFRITCOESE
max = max
elif max <= i : & FAEL VA 2FAEEAETE
max = |
print max
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